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    Guess Paper – 2009

Class – XII
Subject –Chemistry   
Time: 3 Hours                                                
                 M.M.70  
General Instructions:

1. All questions are compulsory.

2. Question nos. 1 to 8 are very short answer questions and carry 1 mark each.

3. Question nos. 9 to 18 are short answer questions and carry 2 marks each.

4. Question nos. 19 to 27 are also short answer questions and carry 3 marks each

5. Question nos. 28 to 30 are long answer questions and carry 5 marks each

6. Use log tables if necessary, use of calculators is not allowed.
1.Which of the following lattices has the highest packing efficiency (i) simple cubic (ii)

body-centred cubic and (iii) hexagonal close-packed lattice?
2.Give reason why a finely divided substance is more effective as an adsorbent.
3.Why is zinc not extracted from zinc oxide through reduction using CO?
4.Draw structures of XeOF4 and BrF5.
5.Give IUPAC name of                   O 

                                                         ׀׀
                                         CH3-CH-C-CH-COOH

                                                  ׀          ׀ 
                                                  Br        CH3

6.Give a chemical test to distinguish between aniline and N-Ethylaniline..
7.Name the vitamin responsible for the coagulation of blood.
8.Give the structure  and name of monomers  of  Buna-S.
9.Explain along with diagrams the conditions for the Non ideal solutions exhibiting   positive deviations
10.(a) Give the cell reaction in H2-O2 fuel cell 

(b) Explain the variation of molar conductivity of strong and weak electrolyte with dilution?
11.A first order reaction has a rate constant 1.15 × 10-3 s-1. How long will 5 g

of this reactant take to reduce to 3 g?
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12. Giving examples, differentiate between ‘roasting’ and ‘calcination’.
13. (a) Why all the bonds in PCl5 are not of equal length? 
      (b) Why H2S is less acidic than H2Se ?
14. Explain the fact that in aryl alkyl ethers (i) the alkoxy group activates the benzene ring towards electrophilic substitution and (ii) it directs the incoming substituents to ortho and para positions in benzene ring.

15. Name the reagents used in the following reactions:

(i) Oxidation of a primary alcohol to carboxylic acid.

(ii) Oxidation of a primary alcohol to aldehyde.

(iii) Bromination of phenol to 2,4,6-tribromophenol.

(iv) Benzyl alcohol to benzoic acid
16.Describe   SN2 mechanism with suitable example..
17.Explain why

(i) The dipole moment of chlorobenzene is lower than that of cyclohexyl chloride?

(ii) Alkyl halides, though polar, are immiscible with water?

(iii) Grignard reagents should be prepared under anhydrous conditions?
18.How are following prepared? Give one use of each. (i) Teflon.(ii) Glyptal.
19.(a) Amongst the following compounds, identify which are insoluble, partially soluble and highly soluble in water? (i) phenol (ii) toluene 

b)  Vapour pressure of water at 293 K is 17.535 mm Hg. Calculate the vapour pressure of water at 293 K when 25 g of glucose is dissolved in 450 g of water.
20. The molar Conductivity of 0.025 molL-1 methanoic acid is 46.1 S cm2 mol-1.  Calculate its degree of dissociation & dissociation constant. If λ0(H+) is 349.6 S cm2 mol-1 and λ0(HCOO-) = 54.6 S cm2 mol-1
21.(a) Classify each of the following as being either a p-type or a n-type semiconductor: (i) Ge doped with In (ii) B doped with Si.

(b) What type of substances would make better permanent magnets,ferromagnetic or ferrimagnetic. Justify your answer.
22 The time required for 10% completion of a first order reaction at 298K is equal to that required for its 25% completion at 308K. If the value of A is 4 × 1010s–1. Calculate k at 318K and Ea.
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23.(a) What is the difference between physisorption and chemisorption?

      (b) What do you understand by activation of adsorbent? How is it achieved?
24(a) Using IUPAC norms write the formulae for Dichlorido bis (ethane-1, 2-diamine) cobalt (III)

(b) Draw all the structures of optical isomers of [CrCl(en)2(NH3)]2+
(c) What is meant by the chelate effect?
25.Give plausible explanation for each of the following:

(i) Why are amines less acidic than alcohols of comparable molecular masses?

(ii) Why do primary amines have higher boiling point than tertiary amines?

(iii) Why are aliphatic amines stronger bases than aromatic amines?
26.(a) Write the important structural and functional differences between DNA and RNA.

(b) Why is  vitamin C essential to us? Give its important sources.
27.(a) What are artificial sweetening agents ? Give two examples.

 (b) How do antiseptics differ from disinfectants ? Give one example of each.

OR
(a) . What is meant by the term ‘broad spectrum antibiotics’ ? Explain.

(b) Low level of noradrenaline is the cause of depression. What type of drugs

are needed to cure this problem ? Name two drugs.
28(a).How is SO2 an air pollutant?

   (b)Why are halogens strong oxidising agents?

  (c) Explain why fluorine forms only one oxoacid, HOF.

  (d)Explain why inspite of nearly the same electronegativity, oxygen forms

      hydrogen bonding while chlorine does not.

  (e) Why are halogens coloured? 
Or

28. (a)Why does R3P = O exist but R3N = O does not (R = alkyl group)?

 (b)Explain why NH3 is basic while BiH3 is only feebly basic.

 (c)Nitrogen exists as diatomic molecule and phosphorus as P4. Why?

(d)Why does nitrogen show catenation properties less than phosphorus?

 (e)Give the disproportionation reaction of H3PO3.

29.(a) Describe the preparation of potassium permanganate. How does the acidified permanganate solution react with (i) iron(II) ions (ii) SO2 and (iii) oxalic acid?

Write the ionic equations for the reactions.

Or

29.(a) Name the oxometal anions of the first series of the transition metals in which the metal exhibits the oxidation state equal to its group number.                                                                                    

(b)  What are the different oxidation states exhibited by the lanthanoids?
(c) suggest reasons for the following features of the transition metal chemistry:

(i) The lowest oxide of transition metal is basic, the highest is amphoteric/acidic.

(ii) A transition metal exhibits highest oxidation state in oxides and fluorides.

30.(a)Arrange the following compounds in increasing order of their reactivity in

nucleophilic addition reactions. :Ethanal, Propanal, Propanone, Butanone.

(b) Which acid of each pair shown here would you expect to be stronger? CH3CO2H or CH2FCO2H

(c) Although phenoxide ion has more number of resonating structures than carboxylate ion, carboxylic acid is a stronger acid than phenol. Why?

(d) What is Rosenmund reaction ?

Or

    a.       An organic compound ‘A’ with molecular formula C5H8O2 is reduced to n-pentane on treatment with Zn-Hg/HCI. ‘A’ forms a dioxime with hydroxylamine and gives a positive iodoform test and Tollen’s test. Identify the compound A and deduce its structure
          b.     An aromatic compound  A on treatment with aqueous ammonia and heating forms compound  B which on heating with Br2 and KOH forms a compound C of molecular formula C6H7N .Write the structures and IUPAC names of compounds A,B,C.
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